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Table 191: DMT Goldbach Test-2.

In the second set of paired columns, do the same only this time subtract -3 for the first and +3 for the second. Example 28: 28/2=14 14-1=13 14+1=15. As 15 is composite (light BLUE), go to the second set of paired columns,
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This Goldbach Test 2 is completely different. It is using the original method discovered on the BIM. Take the EVEN then +2, then subtract -1 for the first number, and add +1 for the second.
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If a number is a composite, mark it with a light BLUE, otherwise the PRIMES are in medium BLUE.

subtracting -3 and adding +3 to give 14-3=11 and 14+3=17, both PRIMES (med. BLUE).

Copyright©2025, Reginald Brooks, Brooks Design. All rights reserved

If neither set of columns work, make a third set and -5 and +5, and so on until you reach a pair of PRIMES. As the EVENSs grow, so does the Prime Pair sets.




